Procurement & Warehousing Services

Broward County Public Schools

RECOMMENDATION TABULATION

ITB #:	18-113N	Tentative Board Meetin	g Date*:	February 6, 2018	
ITB Title:	SCIENCE SUPPLIES, EQUIPMENT, SPECIMENS	# Notified:	664	# Downloaded:	22
	AND LABORATORY CHEMICALS (CATALOG)	# of Responses Rec'd:	14	# of "No Bids":	0
For:	VARIOUS LOCATIONS	ITB Opening Date :	Novemb	er 30, 2017	
Fund:	(School/Department) VARIOUS FUNDS	Advertised Date:	Novemb	er 7, 2017	

POSTING OF ITB_RECOMMENDATION/TABULATION: Select One Recommendations and Tabulations will be posted in the Procurement & Warehousing Services and www.Demandstar.com on **JANUARY 10, 2018** @ **3:00 pm** and will remain posted for 72 hours. Any person who is adversely affected by the decision or intended decision shall file a notice of protest, in writing, within 72 hours after the posting of the notice of decision or intended decision. The formal written protest shall be filed within ten (10) days after the date the notice of protest is filed. Failure to file a notice of protest or failure to file a formal written protest shall constitute a waiver of proceedings under this chapter. Section 120.57(3)(b), Florida Statutes, states that "The formal written protest shall be excluded in the computation of the 72-hour time period provided. Filings shall be at the office of the Director of Procurement & Warehousing Services, 7720 West Oakland Park Boulevard, Suite 323, Sunrise, Florida 33351. Any person who files an action protesting an intended decision shall post with the School Board, at the time of filing the formal written protest, a bond, payable to The School Board of Broward County, Florida, (SBBC), in an amount equal to one percent (1%) of the estimated value of the contract. Failure to post the bond required by SBBC Policy 3320, Part VIII, Purchasing Policies, Section N, within the time allowed for filing a bond shall constitute a waiver of the right to protest.

(*) The Cone of Silence, as stated in the ITB / RFP / RFQ / HARD BID, is in effect until it is approved by SBBC. The Board meeting date stated above is tentative. Confirm with the Purchasing Agent of record for the actual date the Cone of Silence has concluded.

RECOMMENDATION TABULATION

<u>BID ITEM 1</u> SHALL BE AWARDED UP TO THE **THREE (3)** LOWEST RESPONSIVE AND RESPONSIBLE BIDDERS WHO COMPLY WITH ALL SPECIFICATIONS, TERMS AND CONDITIONS OF THIS BID. ALTERNATE MAKE/MODELS WERE EVALUATED TO ENSURE CONFORMANCE, AND THEIR ABILITY TO MEET OUR SPECIFICATIONS.

AWARDEE(S)	ITEMS AWARDED
CAROLINA BIOLOGICAL SUPPLY CO.	10, 25
FISHER SCIENTIFIC COMPANY L.L.C.	1, 2, 4, 5, 6, 7, 10, 11, 12, 14, 15, 16, 17, 18, 19, 20, 21, 23, 24, 25, 26
FLINN SCIENTIFIC, INC.	1, 3, 8, 9, 10, 11, 12, 13, 14, 16, 17, 19, 21, 22, 23, 24
NASCO EDUCATION, LLC	2, 3, 4, 5, 6, 7, 9, 12, 13, 20, 21, 22, 25, 26
SCHOOL SPECIALTY, INC. D/B/A FREY SCIENTIFIC	1, 2, 3, 5, 8, 9, 13, 15, 20, 22, 26
VWR INTERNATIONAL LLC D/B/A SARGENT WELCH AND WARD'S SCIENCE	4, 6, 7, 8, 11, 14, 15, 16, 17, 18, 19, 23, 24

(Purchasing Agent)

Date:

January 10, 2018

The School Board of Broward County, Florida, prohibits any policy or procedure which results in discrimination on the basis of age, color, disability, gender expression, national origin, marital status, race, religion, sex or sexual orientation. Individuals who wish to file a discrimination complaint, may call the Executive Director, Benefits & EEO Compliance at 754-321-2150 or Teletype Machine (TTY) at 754-321-2158.

Individuals with disabilities requesting accommodations under the Americans with Disabilities Act (ADA) may call the Equal Educational Opportunities (EEO) at 754-321-2150 or Teletype Machine (TTY) at 754-321-2158.

Bv:

BID ITEM 2 SHALL BE AWARDED TO ALL RESPONSIVE AND RESPONSIBLE BIDDERS MEETING ALL SPECIFICATIONS, TERMS AND CONDITIONS OFFERING A SINGLE-FIXED PERCENTAGE DISCOUNT OFF OTHER WEB BASED CATALOG ITEMS NOT INCLUDED IN BID ITEM 1.

AWARDEE(S)	DISCOUNT OFF SUPPLIES	DISCOUNT OFF EQUIPMENT
1. ACE EDUCATIONAL SUPPLIES, INC.	33%	33%
2. CAPITAL MICROSCOPE SERVICES, INC.	25%	25%
3. CAROLINA BIOLOGICAL SUPPLY CO.	5%	5%
4. ENGAGED LEARNING SOLUTIONS, INC.	25%	25%
5. FISHER SCIENTIFIC COMPANY LLC	33%	33%
6. FLINN SCIENTIFIC, INC.	16%	16%
7. HAND2MIND, INC. D/B/A ETA HAND2MIND	15%	15%
8. LAKESHORE EQUIPMENT COMPANY D/B/A LAKESHORE LEARNING MATERIALS	5%	5%
9. NASCO EDUCATION, LLC	15%	15%
10. PASCO SCIENTIFIC A CA CORPORATION, D/B/A PASCO SCIENTIFIC	3%	3%
11. SCHOOL OUTFITTERS, LLC	2%	2%
12. SCHOOL SPECIALTY, INC. D/B/A FREY SCIENTIFIC	35%	12%
13. UNITED DATA TECHNOLOGIES, INC. **	25% (GLOBISENS) 5% ((UDT) 3% (BALANCE OF LINE	25% (GLOBISENS) 5% (UDT)) 3% (BALANCE OF LINE)
14. VWR INTERNATIONAL LLC D/B/A SARGENT WELCH AND WARD'S SCIENCE	35% (SARGENT WELCH 20% (WARD'S SCIENCE	, , , , , , , , , , , , , , , , , , , ,

****REPRESENTS S/M/WBE CERTIFIED VENDOR**

CONTRACT PERIOD: MARCH 1, 2018 THROUGH MARCH 31, 2021.

By:

(Purchasing Agent)

Date:

January 10, 2018

The School Board of Broward County, Florida, prohibits any policy or procedure which results in discrimination on the basis of age, color, disability, gender expression, national origin, marital status, race, religion, sex or sexual orientation. Individuals who wish to file a discrimination complaint, may call the Executive Director, Benefits & EEO Compliance at 754-321-2150 or Teletype Machine (TTY) at 754-321-2158.

Individuals with disabilities requesting accommodations under the Americans with Disabilities Act (ADA) may call the Equal Educational Opportunities (EEO) at 754-321-2150 or Teletype Machine (TTY) at 754-321-2158.

GRC	OUP 1 - TOP 26 ITEMS		Carolina Biolog	jical Supply Co.	Engaged Lo Solutions		Fisher S Compa		Flinn Scie	entific, Inc.	Nasco Educ	ation, LLC		cialty, Inc. d/b/a Scientific	VWR Internation Sargent Welch Science	
Item #	Description	Estimated Quantity	Unit Price	Total Price	Unit Price8	Total Price9	Unit Price9	Total Price10	Unit Price10	Total Price11	Unit Price11	Total Price12	Unit Price118	Total Price129	Unit Price119	Total Price1210
So IT	tandard Vented Goggle with Fog-Free Lens. <i>Flinn</i> <i>cientific :</i> <u>ITEM# AP3309</u> . <i>Fisher Scientific:</i> <u>EM# 17253</u> . Or other brand meeting pecifications.	500	14.73	7,362.50	- -	_	4.70	2,350.00	5.42	2,710.00	6.27	3,132.50	2.14	1,069.25	5.59	2,795.00
L.	pron, Rubberized, Medium-Duty, 27" W x 36" <i>Flinn Scientific:</i> <u>ITEM# AP7125</u> . Or other rand meeting specifications.	300	14.35	4,303.50	-	-	6.26	1,878.00	7.27	2,181.78	6.27	1,879.50		1,363.05	8.65	2,593.50
FI 3 m	heep Brain with Cranial Nerve Roots, Preserved. <i>linn Scientific :</i> <u>ITEM# PM3095</u> . Or other brand eeting specifications.	300	12.83	3,847.50	-	-	8.74	2,622.00	8.46	2,538.90	8.06	2,419.20	7.92	2,374.90	14.29	4,288.05
Re 4 ot	ormalin Preserved Sheep Brain, Dura Mater emoved. <i>Fisher Scientific:</i> <u>ITEM# S28069</u> . Or ther brand meeting specifications.	140	11.64	1,629.25	-	-	8.74	1,223.60	-		11.00	1,539.72			9.74	1,364.09
Fi	ormalin Preserved Sheep Brain, Dura Mater Intact. isher Scientific : <u>ITEM# S28065.</u> Or other brand eeting specification.	100	14.49	1,448.75	-	-	12.89	1,289.00	-	-	12.67	1,267.13	10.33	1,033.49	14.29	1,429.35
<u>P</u> [heep Hearts, Preserved. <i>Flinn Scientific: <u>ITEM#</u> <u>M4000</u>. <i>Fisher Scientific:</i> <u>ITEM# S28067</u>. Or ther brand meeting specification.</i>	500	5.70	2,850.00	-	-	4.61	2,305.00	6.36	3,177.50	2.63	1,314.95	21.93	1,096.40	4.28	2,141.75
7 m	arolina Formalin Preserved Sheep Kidney. <i>Fisher</i> cientific : <u>ITEM# S28066</u> . Or other brand eeting specifications.	500	5.37	2,683.75	-	-	3.73	1,865.00			3.55	1,777.13	18.49	924.60	3.81	1,904.50
8 m	etal Pig, Preserved, Plain, 7–10", Medium. <i>Flinn</i> <i>cientific:</i> <u>ITEM# PM3025</u> . Or other brand eeting specifications.	200	19.95	3,990.00		-	18.30	3,660.00	11.17	2,234.48	16.50	3,299.94	14.65	2,929.92	15.57	3,113.50
9 ot	etal Pig, Preserved, Single Injected, 7–10", edium. <i>Flinn Scientific:</i> <u>ITEM# PM3030</u> . Or ther brand meeting specifications.	140	20.90	2,926.00	-	-	17.76	2,486.40	10.57	1,479.94	17.00	2,380.22	15.42	2,158.57	19.49	2,728.60
FI	ogfish, Sharks, Preserved, Plain, 22–27", Medium. linn Scientific: <u>ITEM# PM1095.</u> Or other brand eeting specifications.	200	11.16	2,232.50	-	-	9.21	1,842.00	9.78	1,955.48	11.19	2,238.00			15.99	3,198.00

Equipment, Specimens and Laboratory Chemicals (Catalog)

GROUP 1 - TOP	P 26 ITEMS		Carolina Biological Supply Co.		Engaged Learning Solutions, Inc.		Fisher Scientific Company LLC		Flinn Scientific, Inc.		Nasco Education, LLC		School Specialty, Inc. d/b/a Frey Scientific		VWR International	
Item De	escription	Estimated Quantity	Unit Price	Total Price	Unit Price8	Total Price9	Unit Price9	Total Price10	Unit Price10	Total Price11	Unit Price11	Total Price12	Unit Price118	Total Price129	Unit Price119	Total Price1210
-	ngle Injected, 5-6", Large. <u>M# PM2075</u> . Or other brand ns.	140	18.72	2,620.10	-	-	9.50	1,330.00	8.51	1,190.90	9.85	1,378.65	9.85	1,379.39	9.74	1,364.09
12 meeting specification	<u>A3015.</u> Or other brand ns.	120	11.64	1,396.50	-	-	7.93	951.60	8.03	963.48	7.63	915.84	8.86	1,063.18	11.04	1,325.22
pH Meter. <i>Flinn Scien</i> 13 other brand meeting	<i>tific: <u>ITEM# AP8673</u>. Or specifications.</i>	70	41.75	2,922.68	-	-	33.65	2,355.50	26.33	1,842.76	30.06	2,104.25	26.12	1,828.65	35.10	2,457.00
	Mobile, Economy Size. <i>Flinn</i> 28733. Or other brand ns.	50	1,238.00	61,900.00	-	-	1,130.16	56,508.00	815.36	40,768.10	1,149.88	57,493.83	1,207.04	60,352.17	972.46	48,622.93
.	ries 122S Coveralls. <i>Fisher</i> <u>3612E.</u> Or other brands ns.	70	-	-	-	-	134.29	402.87	-	-		-	41.53	2,907.00	196.20	13,734.18
Polar 3D Printer. Fish 16 S24020. Or other bra	er Scientific: <u>ITEM#</u> and meeting specifications.	50	-	-	-	-	723.70	36,185.00	799.00	39,950.00	-	-			917.99	45,899.50
Polar 3D Printer Starte Scientific: ITEM# S2 17 meeting specification	4022. Or other brand	50	-	-	-	-	939.11	46,955.50	121.80	6,090.00	-	-			1,190.09	59,504.50
The Arduino Starter Ki <u>NC0710214</u> . Or othe 18 specifications.	t. <i>Fisher Scientific:</i> <u>ITEM#</u> r brand meeting	50	-	-		-	93.81	4,690.50	-	_	-	-			107.99	5,399.50
Vernier Labquest Softwork Scientific : ITEM# S1 19 meeting specification	5974ND. Or other brand	50	-	-	599.25	29,962.50	312.46	15,623.00	290.18	14,508.90	-	-			329.99	16,499.50
Scholar Hotplate PC-1 Scientific: ITEM# S5 20 meeting specification	0441. Or other brand	150	160.55	24,082.50	-		125.23	18,784.50	127.10	19,065.00	121.78	18,266.72	109.19	16,378.48	125.84	18,876.00
Dogfish Sharks, 18-22 ITEM# S1509S. Or o 21 specifications.	inches. Fisher Scientific: ther brand meeting	200	11.16	2,232.50	-	-	6.72	1,344.00	7.93	1,585.96	8.75	1,749.60			13.49	2,698.00

Bid Summary Sheet

Science Supplies,

Equipment, Specimens and Laboratory Chemicals (Catalog)

GRO	OUP 1 - TOP 26 ITEMS		Carolina Biological Supply Co.		Engaged Learning Solutions, Inc.		Fisher Scientific Company LLC		Flinn Scientific, Inc.		Nasco Education, LLC		School Specialty, Inc. d/b/a Frey Scientific		VWR International	
Item #	Description	Estimated Quantity	Unit Price	Total Price	Unit Price8	Total Price9	Unit Price9	Total Price10	Unit Price10	Total Price11	Unit Price11	Total Price12	Unit Price118	Total Price129	Unit Price119	Total Price1210
F	R Instruments™ Blades for Scalpel Handles. Sher Scientific : <u>ITEM# S08121</u> . Or other brand eeting specifications.	100	32.97	3,296.50	-	-	1.99	19.91	1.84	184.14	0.91	91.07	1.71	17.14	6.66	666.25
S	elf-Contained LPG Burner Butane Fuel. <i>Fisher</i> cientific : <u>ITEM# S41873</u> . Or other brand eeting specifications.	200	13.54	2,707.50	-	-	7.89	1,578.00	5.83	1,165.60	9.00	1,799.98			7.64	1,527.50
<u>דו</u>	etal-Back Thermometers. <i>Fisher Scientific</i> : EM# S41570. Or other brand meeting pecifications.	200	14.73	2,945.00	-	-	1.39	278.00	1.46	291.40	5.31	1,061.50	1.58	316.02	1.33	266.50
	quid. <i>Fisher Scientific</i> . <u>ITEM# S5116</u> . Or other rand meeting specifications.	500	3.14	1,567.50	-	-	2.24	1,120.00	4.67	2,334.30	2.41	1,204.13	25.52	1,276.08	3.60	1,800.50
<u>11</u>	alculator, Scientific, 2-Line. <i>Flinn Scientific</i> : <u>EM# AP5346</u> . Or other brand meeting pecifications.	200	19.14	3,828.50	-	-	13.22	2,644.00	16.59	3,317.00	12.48	2,496.18	14.42	2,884.17	14.59	2,918.50

Science Supplies, Equipment, Specimens and Laboratory Chemicals (Catalog)



Group 2 - Catalog

		Ace Educational Supplies, Inc.	Capital Microscope Services, Inc.	Сагонна вююдісаї зирріў Со.	Inc.	ons, Fisher Scientific Compar LLC	Flinn Scientific, Inc
em #	Column4	Column5	Column1	Column2	Column3	Column32	Column33
1	Manufacturer Name				Boxlight Mimio	Fisher Science Education General Catalog 2018	Flinn Scientific Inc
					- <u>http://engagedlearningsoluti</u>	<u>ons.c</u>	
2	Indicate Catalog or Website	ACEeducational.com	Catalog	www.carolina.com	om/pbscience	Catalog	www.flinnsci.com
3	Does your catalog include specimens and chemicals. Input Yes or No.	No	No	Yes	No	Yes	Yes
4	% Discount for Supplies	33%	25%	5%	25%	33%	16%
5	% Discount for Equipment	33%	25%	5%	25%	33%	16%
1	Manufacturer Name	5570	2370	570	2370	5570	1070
2	Indicate Catalog or Website						
3	Does your catalog include specimens and chemicals. Input Yes or No. % Discount for Supplies						
4 5	% Discount for Equipment						
1	Manufacturer Name						
2	Indicate Catalog or Website						
3 4 5	Does your catalog include specimens and chemicals. Input Yes or No. % Discount for Supplies % Discount for Equipment						

Item #2	Column43	Hand2mund, Inc. d/b/a ETA hand2mind Column34	Lakeshore Equipment Company d/b/a Lakeshore Learning Materials Column35	Nasco Education, LLC Column36	Pasco Scientific A CA Corporation d/b/a Pasco Scientific Column362	School Outfitters, LLC Column363	School Specialty, Inc. d/b/a Frey Scientific Column364		VWR International LLC d/b/a Sargent Welch and Ward's Science Column366
		Oolumino+	Oolumniio	Columnoo	00101111302	00101111303	Columnoor	Columnooo	Columnsoo
		hand2mind, Inc., dba ETA	Lakeshore Learning						
1	Manufacturer Name	hand2mind	Materials		PASCO scientific	School Outfitters	Frey Scientific	Globisens	Sargent Welch
				- www.enasco.co					
2	Indicate Catalog or Website	Both		<u>m</u>	Catalog	www.schooloutfitters.coi	Both	https://shop.udtonline.com	Both
	Does your catalog include specimens and chemicals. Input Yes	S							
3	or No.	No	Yes	Yes	No	No	Yes	Yes	Yes
4	% Discount for Supplies	15%	5%	15%	3%	2%	35%	25%	35%
5	% Discount for Equipment	15%	5%	15%	3%	2%	12%	25%	35%
1	Manufacturer Name							United Data Technologies	Ward's Science
2	Indicate Catalog or Website							https://shop.udtonline.com	Both
	Does your catalog include specimens and chemicals. Input Yes	S							
3	or No.							Yes	Yes
4	% Discount for Supplies							5%	20%
5	% Discount for Equipment							5%	20%
1	Manufacturer Name							Balance of Line	
2	Indicate Catalog or Website							https://shop.udtonline.com	
3	Does your catalog include specimens and chemicals. Input Yes or No.	S						Yes	
4	% Discount for Supplies							3%	
5	% Discount for Equipment							3%	